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Section-1

Answer the following questions (any two) :

1 (a) Explaint - test and test of significance of difference between means of two small samples. 20
(b) AnLQ. test was administered to 5 persons before and after they were trained. The results are
given below.
Candidate 1 2 3 4 5
IQ before Training 110 120 123 132 125
IQ after training 120 118 125 136 121
Test whether there is any change in 1.Q. after the training programme.
2 (a) (i) Define chi-square statistics and give its uses
(ii)  Explain chi-square test of independence of two attributes.
(b)) Five coins are tossed for 320 times and the following distribution of number of heads is obtained.
Number of head 0 1 2 3 4 5
Frequency 8 42 116 90 52 12
Test the hypothesis that the coins are unbiased. [x”oo5 =11.07]
3 (a) Explain the technique of one-way analysis of variance. 20
(b ) Prepare two-way ANOVA table for the following and give your comment.
Machines
Operators I II I v A%
I 30 24 33 36 27
I 26 29 24 31 35
I 38 28 35 30 33
Coded data can be obtained by substracting common number 30
4 (a) (i) State difference between parametric and non-parametric tests. 20
(1)  Explain sign test.
(b) Verify that the following two samples are drawn from same population or not.
Sample - I 50 35 68 15 10 30 32 32 38 26
Sample - II 110 162 157 80 70 105 86 100 122 50
Add Instruction [z, =1.96]
Section - II
5 Answer the following (any five) : 10
(1) Sample with size ............ is considered as a small sample test.
(a) Above 30 (b) 30 or less than 30 (c) 30 - 50 (d) None of above
(2 ) If the calculted value of X2 is ............ the table value of x? then null hypothesis is to be accepted.
(a) less than is equal to (b) > (c) > (d) None of above
(3) Which samll sample test can be used for testing the significance difference between two
population variances?
(@) t - test (b) f - test (c) x? - test (d) None of these
(4 ) Who had found student t - distribution?

(a) Karl-pearsons (b) Bowely (c) W.S. Gosset (d) None of these
P.T.O.
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D (x =%)* =120,m, =10
(3) I 3 (x2-%,)2 =144,1, =10

(a) 1.02 (b) 10.2 (c¢) 5.01 (d) None of these
(6) E(U)=Mean of the Mann-whithey U - test is .............

then find value of F

(@) E(U) = 91;_2 (b) E(U) _2nn, 1
n, +n,

n (d) None of these

©EU) = 3

(7) V()= variance of the sign test is ................

mn, (@, +n, +1) B
> (b ¥edr=

n? ' (d) None of these
©VU) =—
16
(8) In Mann-Whithey U-test,
R,=56.3,n =10
E.= 1545, 0= 10 then V) = wimmrinn
(a) 275 (b) 375 (c) 175 (d) None of these
(9) In analysis of variance the total sum of square TSS = ...............

(@) V(U) =

@ ij -CF (b)Y Y xij> ~CF
() Z_}fji -CF (d) None of these

(10)  In analysis of variance the column sum of square C.S.S. = ................

Rj?
@) ij ~CF (b)Y xij> -CF
chz (d) None of these
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